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MAXIMUM MARKS: 48 48 A
NOTE: - Write same question number -4.@1:&;.{4%625{ 6;:&7.;:&.@%}1{(&5’(}& -

and its part number on answer book, as given in the question paper.
SECTION-l Jie

2- Attempt any five parts. 10=2x5 .@‘{{]’@Hﬁélﬂégaéf -2/;‘)1:’

() What is meant by damped oscillations? ?g'__ ,i/kl’;—_, /"JU',LV:J )]

(i) Find the time period of a simple pendulum 1.0 m long at g= 10 ms Z.ﬁép'w. ,@,fwﬂm bl Ju/J (i)
a location where g=10 ms”

(iif) What is the difference between the intensity and T';.C})JU_L{;:Z&B?U»IJ"'%J}:V (iii)

loudness of sound?

(iv) Calculate the frequency of a sound wave of speed 340 % 05m f:"x”,i 340 ms~ 4.‘.; u.ﬁér}vo‘%f/&,ﬁ;u (iv)
ms~! and wavelength 0.5 m.

(v) How is ultrasound used to locate underwater depths or f.'.»‘-_b-{?j:ﬁd:;;{._L}ldi;LL?JEJJ&FMIA.(&NL:AJﬁH/‘JI (v)
is used for locating object lying deep on the ocean floor?

(vi) What is meant by the term e.m.f.? 'i';;/u/a_ (e.m. f);,f:r;’;‘n}'al (vi)
(vii) In a circuit 2 ohm, 3 ohm and 6 ohm resistances are & J:’;._Lffjfc-ﬁ/"gy,@}(ﬁ;rﬂ:lﬁj}!(sl 3( sl 2u" J I (vii)
connected in parallel to a battery og voltage 6. Calculate -éf’h"ﬁfdfb"&u‘r/-d-'-)”sg
the equivalent resistance of the circuit.
(viii) Describe Joule's Law and write its equation. égf}b’t’(dl‘{jlu/{uhu;g(&? {viii)
3- Attempt any five parts. 10=2x5 - fenlizble ) 340w
(i)  State Laws of Reflection of light. ~Euke 9 JJU'H ()
(i)  Differentiate between concave mirror and convex mirror. -y L'L))U:»y‘ =l (if)
(ili)  Define powr of lenses and write its unit. _J)}fw!bfgijfdf-ﬂﬂ;/d Usl (i)
(iv)  What is meant by electric field lines? °¢-JVL“/¢-/UAJ-"J/’§ ()
(v)  What is the difference between fixed capacitor and variable capacitor? ‘.i:.;_ ) /’Uu" P"r J""i d/wi k3 L0 (v)
(vi)  What is the difference between data and information? °| df U/L}:wwﬂ'ﬁj (vi)
(vi)  Differentiate between primary memory and secondary memory. _é UkJAL d;f’ d;ﬁ»ld))" Al Ay (vii)
(viii) Define data managing g,{ J?‘{ k3 (viii)
4- Attempt any five parts. 10=2x5 _gfg/{ukliﬁl?ta.df -4/U!r
(i) Define Electromagnetism. J/"Jr/ '-g"/'g 0]
(i)  State principle of A.C. Generator. {:’ULMJJ‘ £ 2A.C. (i)
(i) ~ What is meant by thermionic emission? ?q—)/u;; ""‘-Ef/ (iif)
(iv)  What is Electron Gun? LU(U{JJ/Q (iv)
(v)  Write the names of Logic operations. ;’ ttﬁ/ {LG b v
(vi)  Define Half Life. /’J...a‘li...: (vi)
(vii)  What is meant by Carbon Dating? fe il é--z':d J( (vii)
(viii) Define penetrating power of Radition -c{ - /U/»L .ﬁr/u*r o Eds (Vi)
SECTION-II (2
NOTE: - Attempt any two questions. -é{/zul"-”éumf"’«:-df e
5.(A) What is wave velocity? Derive it. LSS STy ()5
(B) The power of a convex lens is 5 D. At what distance Jﬂ;!&Jgkhﬂ{JﬂEfo;ﬂ_q.SDakJ}JJ(;:-{ (<)
the object should be placed from the lens so that its Wﬂé,dzy',‘_uu

real and two times larger image is formed?

6.(A) Explain Coulomb's law of electrostatics. Also write 4 g{)ﬁﬁpfw/d_épb,d’ujwﬁu‘g}alf.#f (-6

its mathematical form.
(B) Ifacurrent of 0.5 A passes through a bulb connected 0. 5A (24620 _‘F_mfyjpﬁdﬁJsV Jre g (L)
across a battery of 6 V for 20 seconds. Find the rate U‘*JJJA/&-#[‘J“‘LA@J'dbé-m}sfarl--t,‘-ﬂfu’/

of energy transferred to the bulb. Also find the
resistance of the bulb. 'éplvul
7.(A) What is an electronic mail? Write its three 4 -A’quﬁw%wiﬁf-ﬂ' (-7
" advantages. e
(B) Define nuclear fusion. Also explain it in detail. 5 _qfu‘apuﬂmw;.uj_gﬂfwﬂ}& (&)
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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that ciz"cie in
front of that question number, Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Atternpt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.] LA

(1)  The relation between V,fand A4 of a wave is given by: e bl S wnd L psl A F sl (D
(a) Ve=A4 B) fi=Vv (©) V‘Z. =} D) v=2a/f

(o) Soundisformof __ energy: —f—fjlf GA_ me @
(a) Blectrical £61  (B) Mechanical 54 () Thermal J 7 (D) Chemical <

) type of image is formed by convex lens on a screen. . q:..t‘l'f.éfib?j__ o AL @)
(A)  Inverted and real .5 (B) Inverted and virtual f .15
() Upright and real (8 s (D) Upright and virtual Jf 2.5 4

(4) The refractive index of water is e SN @

(A) 1.33 (B) 1.02 (O) 1.31 (D) 1.52‘ ’

(s) The value of K in Coulomb’s Law is: el UKL LIS (5)

) 9x10° Nm?’C? (B) 9x10°Nm?*C? (C) 9x10°Nm2C? (D) 9x10° Nm® C?

() A current of 3 A passes through 6 Q resistor then

i e btiS L SBA 2t l6Q L (6)
voltage across this resistor will be: = ¥

W @w».—;.‘)lé
() 2V B) 9V (C) 18V (D) 36V
(7) 1 milliampere is equal to : te bl hd ()
(ay10° A (B)10” A (©)10° A (D) 107 A

(8)  If the current in a wire which is placed perpendiculartoa ./ |, &t U’KJ: Sl ®
magnetic field increases, magnetic force on the wire: L
8 RS IR ' A el S i olond e §

(A) Will Increase J2z  (8) Will Decrease ¢ (C) Will remain the same $xf'he (D) Will be zero 3

(9) From the give ﬁgu.re logical operation e bTt S FeT gy ceduigFPdits )
18 performed by this gate.
A —
N)-mmmmen X
B —
(A) AND (B) NOR 4 (C) NAND % (D) OR T
(10) is the most suitable mean of reliable continuous g‘f‘-g,f Elinla e nllimeiie  (10)

communication between an orbiting Satellite and Earth. .
g it}

(A) Microwaves Jg»A\  (B) Radio waves jysghs (C) Sound waves jys¥si (D) Any light wave et 3y

(11) The brain of any computer system is: -q;.f,ftJKf"”/ gt tf/ (n
(A) Monitor £» (B) Memory $.»2 (@ CPU..44-0 (D) Control Unitesys
(12) When a heavy nucleus splits into two lighter s b ond ,_mra_—"““ Vgggfi,,g,)u:’{ fiMtiez  (12)

nuclei, then process would:
(A) Release nuclear energy Jn@;l&d}if—gf (B) Absorb nuclear energy Jn.,.i;&)!/-:’::‘

(C) Release Chemical energy Snt 32K (D) Absorb Chemical energy Jn.,,.i;&)uﬁ‘{
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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 1A
(1) The refractive index of water is :;;_.JEJ:I}.C )Jb@‘l; (1)
(A) 133 (B) 1.02 (C) 1.31 (D) 1.52
() The value of K in Coulomb’s Law is: e ed (KA L ()
() 9% 10°Nm'c? (B) 9x10°Nm?C? () 9x10°Nm?C? (D) 9x10°Nm’C’

(3) A current of 3 A' passes through 6 © resistor then /*)Ji,fl;q_.t'-r}r-.tr';f?;A PO, =Wt o NS (I )
voltage across this resistor will be:

IRy v
() 2V (B) 9V (C) 18V (D) 36V
(4) 1 milliampere is equal to : AT, oL @
) 107 A (B) 10" A (©) 10° A (D) 10° A

(5)  If the current in a wire which is placed perpendiculartoa ./, & Lol bt B S, )
magnetic field i ’ tic fi the wire: o
gnetic field increases, magnetic force on the wire b Gl S i e\bnd 1§

(A) Will Increase J&%  (B) Will Decrease S/ (C) Will remain the same (»#' s (D) Will be zero Jﬁ)"

(6) [From the give figure logical operation et S E T g ettt @)
is performed by this gate. '
A —
J0--mmeme X
B ]
(A) AND (B) NOR 4 () NAND »* (D) OR 1T
7) is the most suitable mean of reliable continuous (‘_}:Q,;f ksl n L i (1)
communication between an orbiting Satellite and Earth. B »
P 22
(A) Microwaves jg.£L  (B) Radio waves Jgspks (C) Sound waves J# 43 (D) Any light wave TN
(g) The brain of any computer system is: _+ég ,(r""’ el J" (8)
(A) Monitor £ (B) Memory ($.s< (© CPU.dw (D) Control Unit erys &
(o) When a heavy nucleus splits into two lighter e ot ﬂ(.?" uc(jubf_ei’,{,,u:‘gd,w,_g?a )

nuclei, then process would:
(A) Release nuclear energy Sne g Ay (B) Absorb nuclear energy Jﬂt,.«jg{;ﬂ/&(f
(€) Release Chemical energy Sup8r < (D) Absorb Chemical energy J: e ie G
(10) The relation between V,f and A of a wave is given by: =+Wkkc’u Wnd ;ﬁfg,;,lu—":-,f G5 tsdiskl  (10)

) V=41 (B) fA=V (€ Vi=f D) v=21/f
(1) Sound is form of energy : e rdga_____ e (D
(A) Electrical £ 4 (8) Mechanical £¥  (¢) Thermal J.7 (D) Chemical <
(12) —— type of image is formed by convex lens on a screen. . q:-b'tzc’fi ((3__ 4 ye /_JJE ¢ (2
(A) Inverted and real & s (B) Inverted and virtual 'z
(©)  Uprightand real (£ 8 s (D) Upright and virtual J 25«
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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LAy

(1) A current of 3 A passes thrqugh 6 Q resistor then P leti S SGA e 7 L60 &)
voltage across this resistor will be:

# n @Hss..jl AL
(a 2V (B) 9V (© 18V (D) 36V
(2) 1 milliampere is equal to : e b UL £ @
(a)10° A (B) 107 A (©)10¢ A (D) 10° A

(3)  If the current in a wire which is placed perpendicular to a e e pmlnf bt g Gl i B
magnetic field increases, magnetic force on the wire: .
it BBl S a3 lend e §

(A) Will Increase §2%  (B) Will Decrease J: #¢ (C) Will remain the same S 2’ U (D) Will be zero J» .

(4) From the give figure logical operation . ﬁ__r‘,’ch” T By sl nstPlits @
is performed by this gate. s i
e
J0---=--- X
B U
(A) AND (B) NOR (C) NAND % (D) OR 1

(5) : isl the most suitable mean of re%iable continuous ¢ ﬁ": S kst n ELineil  (5)
communication between an orbiting Satellite and Earth.
i

(A) Microwaves J#» . (B) Radio waves 14k (C) Sound waves jys43- (D) Any light wave gsosy 35

(6) The brain of any computer system is: § q—fbl- ¥ {('—/ ‘%ru/o/ 6)
(A) Monitor %» (B) Memory (s (©) CP.U.-y-d-i5 (D) Control Unit ety &
(7) When a heavy nucleus splits into two lighter T . r,:ﬁ' BRI e A PR C)

nuclei, then process would;
(A) Release nuclear energy an-,;ud)!ff.c‘ (B) Absorb nuclear energy Jﬂ._.«.:yd)l/".‘-rf

(C) Release Chemical energy St 6345 (D) Absorb Chemical energy Jx.,,.:g@ju}?f

(8) The relation between V,fand A of a wave is given by: :%rbLLJL’TuL/»L s jFundp @)

(W Vi=4 B) fA=V C Vai=f M) v=21/f

(9) Sound is form of energy : ‘ i fJJd 5 # ()
(A) Electrical £/ (8 Mechanical £ (¢) Thermal J2 (D) Chemical <

(10) type of image is formed by convex lens on a screen. _ 4.?&(‘;5!5’(3 LI F /gu{ L Qo)
(A) Inverted and real JC 295 (B) Inverted and virtual J':zxmlt?l
(©)  Upright and real £, 4 (D) Upright and virtual f 28«

(11) The refractive index of water is e SN D

(A) 1.33 (B) 1,02 (C) 131 (D) 1.52

(12) The value of K in Coulomb’s Law is: el KLU S (12)

(ay 9x10°Nm*C? B) 9x10°Nm?*C? (C) 9x10°Nm?2cC*™ (D) 9x 10° Nm? C?
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WIENSS pelliy 4ol I T| Ko AT U aar (o 2y Bubblos KT se hzoid st S 2SS sl
Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 1A
(1) If the current in a wire which is placed perpendicular to a and g et Ayl mf Mt e ogl i (D
magnetic field increases, magnetic force on the wire: bl S, J’,;fuiz'..tg},b.‘c 68

(A) Will Increase &% (8) Will Decrease (™ (C) Will remain the same [x Lt (D) Will be zero Snpe

() From the give figure logical operation et T gy aefntLP L, @
is performed by this gate.
, A —rt
| SR X
B it
(A) AND (B) NOR & (C) NAND & (D) OR J

(2) is the most suitable mean of reliable continuous g‘}é,;f sl s S fimei  (3)
communication between an orbiting Satellite and Earth.

2 i
(A) Microwaves Jy».4,  (B) Radio waves J4sgks (C) Sound waves jyskil- (D) Any light wave gsusUff 3y
(4) The brain of any computer system is: _c_bm’ﬁ" L @
(A) Monitor £y (B) Memory (§.s< (© CPU..4-d-s (D) Control Unit.esys &
(5) When a heavy nucleus splits into two lighter . c-J!J*?q-‘v“ﬂr‘:-J BAN LI S féMdic2  (5)

nuclei, then process would:
(A) Release nuclear energy J oG A Ay (B) Absorb nuclear energy & o G H
(C) Release Chemical energy d’n{ww‘jifﬂ (D) Absorb Chemical energy & oGS

(6) The relation between V fand A of a wave is given by: q_ﬂ?&w‘; enLl ;f'fgmig"hf S udpdl  (6)

) Vi=4 (B) fA=V (€C) VA=f (D) v=21/f

(7)  Soundis form of energy : _,T.(JJJ.); xe (1)
(A) Electrical £ () Mechanical £  (¢) Thermal J.# (D) Chemical K<

(8) - typeofimage is formed by convex lens on a screen. _ a.t'h(‘-.flffj o’ ,&:} AL ®
(A)  Inverted and real % s (8) Inverted and virtual J,,ﬁ.fm‘d"i
(€)  Upright and real £ IS A (D) Upright and virtual J’:;xu.-nf e

(¢) The refractive index of water is :.:‘-_,J-c,‘cu{};b’ék (9)

(A) 1.33 (B) 1.02 (C) 1.31 (D) 1.52

(19) The value of K in Coulomb’s Law is: e eddREUB L (10)

(a) 9% 10° Nm’c? (B) 9x10°Nm?C? (C) 9x10°Nm?C*? (D) 9x10° Nm? C?

(11) A current of 3 A passes through 6 Q resistor then ;}Ju—fg‘?_m)‘_&,—;ﬁ Are B uleQ o (11)
voltage across this resistor will be: .
v é}u-}i}’fﬁ:—

(a) 2V (B) 9V (C) 18V (D) 36V
(12) 1 milliampere is equal to : e bnds gL (12)
107 A (B) 10" A (C) 10 A (D) 10° A

18 (OB ¥ ¢ )-2018(A)- 53000 (MULTAN)
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NOTE: - Write same question number and its part 3 f_&,,beé_wyf ﬁg{éfuﬁigz,«,lﬁ)dlr@%@’@g.&}

number on answer book, as given in the question paper.

SECTION-1 Jsl .«

2. Attempt any five parts. 10=2x5 _é4fa§l££lZI§g;Jf_2ﬁ}dlr
(1) Define amplitude. E G W
(i) What is meant by electromagnetic waves? Sl 21 it O Gi)
(iii) What is meant by loudness? Sl e 50 Gid)
(iv)’ What is meant by noise? el /_l:{‘_.—..r} Gv)
(v) Define intensity of sound. AT N PR )
(vi) State Ohm’s law. Also write its formula. -éf Uy B8 ,z-g;{ugfur'” s (vi)
(vii) Define resistance. Also write its unit. -“&Fd’ LS S P S5 (il
(viii) Define Electric Power. -E S, 20 (viid)
3. Attempt any five parts. 10=2x5 _ -EF e lizibye 343 Ay
(i) What is meant by regular reflection? el 2L r_.c}g’ »ubl (1)
(ii) Define Principal axis. L EAF . @
(iii) What is endoscope? ek (i)
(iv) Define electric field. BT v
(v) What is meant by capacitance? Sl e e Lﬁ*f )
(vi) What is meant by hardware? Sesl ezl (vi)
(vii) What is meant by flow of information? Sl ol e Sl At (vii)
(viif)  What is a fax machine? Se 0o U (i)
4, Attempt any five parts. 10=2x35 -é-fx_,fa@&&&lé&:.d:ﬁ@:fdlf
(i) What is meant by solenoid? Sl iy ()
(ii) What is meant by relay? fesl Vel s G
(iii) What is meant by thermionic emission? ) /y’c.gﬁ‘-'{'l..f::‘,? (iii)
(iv) Differentiate between analogue and digital electronics. -;fu“)u:f ASES Gy
(v) Draw circuit diagram of OR gate. -a_-t-.rlfgs.:f e forR W)
(vi) What is meant by isotopes of an element? tet e i Tl ey’ (i)
(vii) Write two characteristics of Gama rays. -,;L‘T ehor® u§zhe” (vid)
(viii) Define penetrating power. ZEy) J;:g..ﬁ?}df- (viii)
SECTION-II (2242
NOTE: - Attempt any two questions. B2 xq _ég{/":.;[,iﬂic.-wru:—&f.&;
5. (a) Derive wave equation. 4) ~ZinanlaSes (ah)_s
(b)  An object and its image in a concave mirror are S eadBiIs e 20em e £0 ()
of the same height, yet inverted, when the object popsa TR o -
is 20 cm from the mirror. What is the focal (5) -‘:i'lr"t””‘QJ”J*’/"%UJ'@;'Q“"“CG?"
length of the mirror?
6. (a) Explain any two hazards of static electricity. 4) WSSl Bue JIEF B (N6
(b) The resistance of a conductor wire is 10 MQ., If b i 2 gy Sk »
a potential difference of 100 volt is applied across g \Lut/i-g10M QU "J:"; ol
its ends, then find the value of current passing Se Sl iy A1 g6 100V
thr it in mA.
ough it in 5) AR
7. (a) How light signals are sent through optical fibre?  (4) szt L2 5L A6 ST A wry (LT
(b) Ashes from a campfire deep in a cave show carbon- Lk 8 18- M Ashes) SLS L AL (L)
14 activity of only one-eighth the activity of fresh - /' -
wood. How long ago was that campfire made? (5) -FE e 1 /8

20-2018(A)-35000 (MULTAN)




,]\\

PAPER CODE 2018 (A) U/ A v

MBER: 3472 -
SSC PART-II (10™ CLASS)
PHYSICS (NEW SCHEME) GROUP-II ) (E 2SS
TIME ALLOWED: 15 Minutes OB JECTIVE L“ ’/, o @5 ==l
MAXIMUM MARKS: 12 12=4F

cf»..g-2::;/!.—-_;_-,;’FL/CL:’;J’l:w&&/cﬁ__alz.:f.oc.uﬁu:}bé&,}.’ﬁ.b.ﬁdlr,p;q{dfﬁ-wécé:DJ:!CrB {A&}iﬁ;ﬁ.ttﬁdb’ﬂ-h*i;
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Note! You have four choices for each objective type question as A, B, C and D . The choice which you think is correct, fill that Bubbles
in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 Al
(1) Inavacuum all electromagnetic waves has same: _wu"":‘ﬁ_"-’_‘.ﬁ sl /:g.l,au:r,:{, )
(A) Speed ix (B)  Frequency g/ (C) Wavelength A%y, (D) Amplitude 325
(2)  The loudness of a sound is most closely related to its : e b A KA SIS E ()
(A)  Frequency 4 £/ (B) Period 4%z (C)  Amplitude 4}&:",51 (D)  Wavelength 4&‘553_,
(3)  The refractive index of diamond is: ; f_‘ff KA (3)
(A) 242 (B) 221 (C) 166 (D) 1.52 _
(4) The equation of Snell’s law is : bl Jul S @)
Sinr Sini 1 1
e ® G = s - Sini
(5)  The SI unit of electric field intensity is: e L SIKG IS (5)
(4) Nc' ®) N'c © N7 o c
& N
(6) 1 milliampere is equal to: e b 8 (6)
(A) 107?A (B) 10°A (C) 10°A D) 10°A
(7)  The study of magnetic effects of current is called: ‘ q.tllv.*/ Ik B LS (7)
(A) Electrostatics /%, 40 (B) Magnetism r/::‘?
(C) Electricity ¢= o (D) Electromagnetism r}‘-:”? 3 A0
(8) If X=A+B then X = 0 when: L X=09x=Aa+BS ()
(A) A=1,B=0 (B) A=0,B=1 (€) A=0,B=0 (D) A=1,B=1
9 is not processing.

_":.uﬁ;._ﬁrs,ug (9)
(A) Gathering £/ (B) Caleulating t/_0t>  (C) Arranging tses? (D) Manipulating /372
(10) 1 Kilo byte is equal to: e Az AKX L (10)

(A) 1024 Bytes #1024 (B) 1000 Bytes #1000 (C) 1002 Bytes #i 1002 (D) 1010 Bytes /| 1010

(11) The device used to store charge is called: e bl STl Sotede (1)

(A) Resistance o= 1, (B) Capacitor /';.", (C)  Battery ¢ (D)  Wire 7
(12) 12 - 12 (12)
The number of Neutrons in C is :;.;wJ:h);:‘u: g 1

(A) 18 (613) 12 © 6 D) 2
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'PAPER CODE 2018 (A)

N$/'MBER: 3474 i
SSCPART-II (10" CLASS)
PHYSICS (NEW SCHEME) GROUP-II 1w/ (E2S 7
TIME ALLOWED: 15 Minutes OBJECTIVE U.EJ/VM“) 2415 =23
MAXIMUM MARKS: 12 12=4F

Ln—gaé}ﬂlﬂgﬁELLﬁjFJW‘_:T:uzv‘(:-?«U?J/}JLJ:U)}]Jiz:J('i-VLJ‘fﬁ.;Lé(L}’f-ﬂé:’.:}DJJIC‘B -Aa@li,fxlgﬁdlfﬁ-@;

- ::'::J’fﬁ...'.'..Ufs’,;.:4._J|rU"i-g?_..E?LJQ.?};’?JIU:.:.,_r:"JL;&&;;U_S’J’:»‘?W—_«@“[Ju:.;-J:‘Ji./.i;&b/&';/{!(u;}bny

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubbles
i front of that question number, Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LA
(1) The equation of Snell’s law is : ;?é,,pgu;g[_ﬁ 1)
Sinr Sini 1 1
(A) n =% (B) n= S (C) n =% (D) n =%
(2)  The ST unit of electric field intensity is: e yS KW @
(A) NC'! (B) N'C (C) N D) C
C N?
(3) 1 milliampere is equal to: :;;.t'nz:Fz_)’;f!L?l ()
(A) 10%A (B) 10°A (C) 10°%A (D) 10°A
(4) The study of magnetic effects of current is called: e b Mt BE LS (@)
(A) Electrostatics /% s 26 (B) Magnetism (kf-’
(C) Electricity ¢4 (D) Electromagnetism l’/’f@ 3 A
(5) IfX=A+B then X =0 when: £ X=0IX=A+B /I (5)
(A) A=1,B=0 (B) A=0,B=1 (C) A=0,B=0 (D) A=1,B=1
(6) is not processing. _ 'T—Ug sy i (6)
(A) Gathering ¢./1 (B) Calculating t./_U_L>  (C) Arranging bres? (D) Mam';Julating /390
(7) 1Kilo byte is equal to: el A S0 @
(A) 1024 Bytes #11024 (B) 1000 Bytes #1000 (C) 1002 Bytes #1002 (D) 1010 Bytes #1010
(8) The device used to store charge is called: :.:_,L"ua,f JT;Jr,L,-Cy’fZ-,ﬂg (8)
(A) Resistance /< (B) Capacitor ‘r-‘-’:/ (C)  Battery $= (D) Wire 7t
@) L2 e s B )
The number of Neutrons in %’ Is : PPN Cﬁf’
(A) 18 (B) 12 (C) 6 (D) 2
(10) Inavacuum all electromagnetic waves has same; -u{?&'jzdfdﬁie’.m@?:/g'rﬁuﬁrzg (10)
(A) Speed 4ty (B)  Frequency £ (C) Wavelength Ay Amplitude 2
(11) The loudness of a sound is most closely related to its : e b AZ ol KA ISR (1)
(A)  Frequency 4u™ £; (B) Period 44 (C)  Amplitude 45.»:'&! (D)  Wavelength J;z;ﬁ:'!}
(12) The refractive index of diamond is: :‘Lu{;m{)!gy,; (12)
(A) 242 (B) 2.21 (C) 1.66 (D) 1.52

20 (Ob))(3% 7% )-2018(A)-35000 (MULTAN)




| PAPER CODE 2018 (A) ( 7;/ ey

BUMBER: 3476 - =
SSC PART-II (10" CLASS)
PHYSICS (NEW SCHEME) GROUP-II r/»_u,.,a:f (f-‘ Favg
TIME ALLOWED: 15 Minutes OBJECTIVE u;’/“‘? A5 =y
MAXIMUM MARKS: 12 12=4F

;@_&;/{LQFELL%}IJJW&W L..,!_R.:.-u};,Uﬁu,}r;i.’:,:J&LVI.JJrﬂ,;géb’drﬁ,w{.’a_.:[hﬂc:f} rA:ayJﬁ;pJ?f.drf/;-h"d;

-g,{/‘i‘-d’.?',q;ﬂlr :;,;n;.:JU’ UK ?LJJ/L:()'{UC&J:’U/L/J{ eff)-fﬁzr‘g}:li?’lﬁnu(j Lﬂ:,J!‘Jé.;/;/:aﬂi.)’{fuﬁbvy
Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubbles
in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LA
(1) IfX=A+B then X =0 when: B X=07xX=A+B S (1)
(A) A=1,B=0 (B) A=0,B=1 (C) A=0,B=0 (D) A=1,B=1
2) is not processing. -.:;..&'7 Ly !y (2)
(A) Gathering ¢./i#1 (B) Calculating t/_0UCl>  (C) Arranging bsez? (D) Manipulating ¢/%7:2
(3) 1 Kilo byte is equal to: el AL L @)
(A) 1024 Bytes #1024 (B) 1000 Bytes #1000 (C) 1002 Bytes #1002 (D) 1010 Bytes ;1010
(4) The device used to store charge is called: et W Tl f»"’fwlg ()

(A) Resistance =5 (B) Capacitor j-f;'( (C)  Battery y# (D)  Wire /1
©) The number of Neutrons in le‘ is : P Y l(j‘ (5)
(A) 18 (B) 12 (C) 6 D) 2
(6) Inavacuum all electromagnetic waves has same: 4 wﬁﬂij Ll A e o (6)
(A) Speed 4x (B)  Frequency w*£; (C) Wavelength 7%y, (D) Amplitude i
(7)  The loudness of a sound is most closely related to its : e b AL KA IS (D)
(A)  Frequency ,5™£) (B) Period 4i5 (©)  Amplitude 255 (D)  Wavelength .;&ﬁ:'g:
(8) The refractive index of diamond is: j ..,‘__‘/{ S KE (8)
(A) 242 (B) 2.21 (C) 1.66 D) 1.52
(9) The equation of Snell’s law is : SRS ) S (©
Sinr , Sini 1 1
) ) Sini 5 o= Sinr S Sinr oy n :%
(10) The SI unit of electric field intensity is: :‘_‘,___,,-’“,S!(L}f':",igb,’/»_o, (10)
(A) NC" (B) N'C €) N2 D) C
c N?
(11) 1 milliampere is equal to: :‘Lm‘,_%y;ﬁ,uhl an
(A) 10°A (B) 10°A (C) 10°A (D) 10°A
(12) The study of magnetic effects of current is called: e bl Sk EE LS (12)
(A) Electrostatics s 46 (B) Magnetism r},f-’
(C) Electricity ¢ ) (D) Electromagnetism (/:’c—’ 3 A9
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PAPER CODE 2018 (A) 7 A
NUMBER: 3478 g

SSCPART-II (10™ CLASS)
PHYSICS (NEW SCHEME) GROUP-TI l/»-.,:/ ((? PN
TIME ALLOWED: 15 Minutes OBJECTIVE U':’:/"J’ 15 =2
MAXIMUM MARKS: 12 12=4F

ek L"é:/."c_g-)ﬁy):'.ﬂfb.'ih?aw L?!ﬁ:ﬁr:)c-_.u:u:}'rszé._.. J&VLJIVJ/::;L&(L}'!T-L&éE;-JDJ}chB iA&E.‘f-’fJ‘g{.JU’ﬁ-dﬂ)
_;{;;J'}rﬁmmr 4.3/,.‘JirJ!_B’E..LgLJU-?’,:’FL;J(UC.';-/!‘JL)’.}}V u’h_fﬂ;r’jw.,ali.u;rjucazfdlé_/,if.:.«ﬂ_é_/{fw}f:uy

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubbles
in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LAy
() The number of Neutrons in 8 is : PPN 20 5 (1)
] ? ]
(A) 18 (B) 12 (C) 6 (D) 2
(2) Inavacuum all electromagnetic waves has same: _wd’ﬁ:&? Li5gs e 28 At Ly (3)
(A) Speed 4ir (B)  Frequency £, (C) Wavelength a"f‘.’g: (0) Amplitude 524
(3) The loudness of a sound is most closely related to its : et KA KA 3)
(A)  Frequency .;u"“-:f /  (B) Period 145 (C) Amplitude .;h;‘g};fn (D)  Wavelength 43-&.‘.';;
(4) 1 milliampere is equal to: et bl @)
(A) 107A B) 10°A (€) 10°A D) 10°A
(5) The study of magnetic effects of current is called: e bl b B Lo ) (5)
(A) Electrostatics Jél" e (B) Magnetism r/"f”
(C) Electricity ¢ (D) Electromagnetism r/-_‘? 3 )
(6) If X=A+B then X =0 when: L x=03x=a+8 (6
(A) A=1,B=0 B) A=0,B=1 (€) A=0,B=0 (D) A=1,B=1
(7 is not processing.

e Ly g @)
(A) Gathering (/11 (B) Calculating ¢/’ t>  (C) Amanging tse? (D) Manipulating t/37:7

(8) 1 Kilo byte is equal to: e sz 2AKL (8)

(A) 1024 Bytes #1024 (B) 1000 Bytes #1000 (C) 1002 Bytes #1002 (D) 1010 Bytes #1010

(9) The device used to store charge is called: e b Tl Lot (9)

(A) Resistance u“:j" i (B) Capacitor }ﬁ»f (C)  Battery & (D) Wire /s

(10) The refractive index of diamond is: :%ij,g)jgy,j (10)
(A) 242 (B) 221 (C) 1.66 (D) 1.52
(11) The equation of Snell’s law is : :%.&UL»‘J;:))G’LJ-{/ (11)
Sinr Sini 1 1
W oms Sini 5 B= Sinr & 8= Sinr £ —%
(12) The SI unit of electric field intensity is; :9#{,31{&)5%5‘_@:9, (12)
(A) NC! (B) N'C (C) N D) ¢
C N
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Q. | Paper Code | Paper Code | Paper Code | Paper Code Q. | Paper Code | Paper Code| Paper Code | Paper Code
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SSC PART-Il (10th CLASS)

Fd

o 2018 (A)' | Q%) /,-,9;,

@1YSICS (OLD SCHEME) GROUP-| , bt - v’/ ((-'? ) S
TIME ALLOWED: 2.45 Hours SUBJECTIVE . ¥l.» 245 = =
MAXIMUM MARKS: 63 63 = AF

NOTE: - Write same question number -q.(yx)gﬁg.{.élfﬁ@é C-,JJ/:;:)’.'JJI/:;JI:'@:{QVQI.ﬁ st

and its part number on answer book, as given in the question paper.
SECTION- sl.e

2- Attempt any six parts. 12=2x6 -é(/zal,lﬁ.ﬁmhg;&f ..2/:U!r
()  Define frequency and write its unit. -¢J-*f'£fu‘ Uaig i A uhEj (i)
(i)  What is meant by ultrasound? Sl e Bl i)
(i)  Define reflection of sound. -e’g‘:u-é’/UﬁVJTd’pj (iii)
(iv)  What is meant by noise pollution? feslsle. »’T‘.i‘f‘ (iv)
(v)  Define regular reflection of light. -é..yﬂ! 2u L5 (v)
(vi)  Define spherical mirror. -£-¢‘/Ufftﬁ/f’ (vi)
(vil) Define principal axis. - fffd'-f; (vil)
(viii) What is meant by electric field? Sl e WD (i)
(i)  How many types of electric charges are? Write their names. _4% Zul T@Lﬁﬁff@}kdlf'gi | (ix)
3- Attempt any five parts. 10=2x5 S fezliatbie 8 30w
()  Define unit of electric potential, S eyl D )
(i) Define capacitor. & -E/JJ,’FE'( (if)

(i) 1f 0.5 c charge passes through a wire in 10's, then what Stz BLL bR b £10S Ep0.5Cbt (i)
will be the value of current flowing through the wire?

(iv) What is meant by conventional current? 'i’s;.ﬁ/&r::.-.*f’f‘}"':“’ (iv)
(v)  Whatis the difference between conductors and %..J)ﬂ)ﬁ)}!ﬂbﬁ)}(b’ (v)
insulators?
(vi) Why the resistance of a conductor increases with the \‘ui'.q.&;»zu"‘sxn.ﬁ}"ﬂ’c.a.zé}/;’ (vi)
rise of temperature?
(vii) What is meant by kilowatt hour? Sl e nTend  (vii)
(viii) What do you mean by solenoid? Sesl P titdy (vili)
4- Attempt any five parts. 10=2x5 -g‘,:r;;abiﬁz:fi’ﬁégc-‘jf 44
()  Whatis meant by an ideal transformer? Se sl WAL T (i)
(i) Define analogue quantities. Give at least one example. -é:d‘#‘uﬂfgfﬂs’e’l.{-i’fvuu'mw (ii)
(ii)  What is meant by "Not" gate? Draw its symboiic diagram. -é&hﬁ&ufd#?q.;y{;qﬁbt (iii)
(iv)  What s the difference between primary and secondary memory? S DV RS S EnS§ Ay (iv)
(v)  State at least four advantages of E-mail. -gyp’@gﬂlr&:(email}ﬁd' (v)
(vi) What do you mean by Hard disk? SRE VLA AL L33 (vi)
(vii) Define Half life. -G, (vii)
(vili) Write down at least four Hazards of radiations. -é!ﬁ;'/ﬁ/yﬁfﬁ:ﬁldé: (viii)
SECTION-II o
NOTE: - Attempt any three questions. 3x7=21 -é;/mméc,wrac.éf -2
5.(A)  Define mechanical waves and explain its types. 4 -LZ/@WL{('-*’-'JJ‘H'QQ-E/J&#’# (-5
(B) A sound wave has a frequency of 2kH: and wave <. 135 cmus! 2kHza.,J/";i'@émlJ‘5€)Jﬁ5L«.ﬁ (o)
tength 35 cm. How long will it take to travel 1.5 km? 3 Wl L3 > Lo 1.5km
6.(A) Explain the refraction of light through Prism. 4 _éyu:d’ut{}:{f&"uc.uﬁﬁ{ (e
(B) An objectis placed 6 cm in front of a concave 66 em &1L e 10 cm ;@J;JJJ/IC?"._Q (s
i e ron . ek o bt
7.(A) State Joule's Law. Derive its equation. 4 S Sy S Al Jr (L7
(B) The‘charge of how many negatively charged ..._ﬁ/.,a ¥ 100 ue b"k’ (‘_._.,;J_upk{,,bgéz ()
particles would be egual to ‘!00 ,ffc? Assurrje . 49 2 )tg
charge on one negative particle is 1.6 x 1007'° ¢ 2 -8 1.6 x1007° C yesidespy.

(éJJJJ)




S

8.{A) What do you understand by the term mutual

induction? Name and define S| unit of mutual
induction.

(B) What are the benefits of using digital electronics 3
over analogue electronics? Explain.

4 S PA eS| Luttespfe o iifie ()-8

?w;’;}yféﬁ}?fﬁsw;t!ﬂ}?l.@w Loy
_gl’.f:#u:

9 (A) Describe the uses of Radio Isotopes in medicine, 4 -Q/uyaUWIVCD;R?J;IW:MQLJJ/Q{J (-9
Industry and Research.

() Whatis the difference between hardware and
software? Name different hardware and software of

a computer, 3

SECTION-III  pv.e
10. (Practical Part):- Attempt any two parts. 5x2=10

A () From the given table, find refractive index
using Snell's Law.

I3 enl sl .JB‘C.&;{ . IR st zashy (&)

L

E fe Lz 3 (o) 10

3w prred (e IHIEITE SIS e JEL (i) A

R ST ST IR
Sr. No. Angle of incidence Angle of refraction Refractive index
<i T n=7?
1 35° 990
2 370 2590
3 34° % bl
(ii) Define critical angle. 2 L Ia SIS (i
B()  With the help of given diagram find the value of 3 e un§PES 1) B
equivalent resistance,
|
* 1=
i [
v
(ii) Define Ohm's law. ) S ﬁJu;s.»;f,.- (ii)
ol D) Write method to find magnetic field by using bar magnet. W:”’“.‘é:ﬂ)ﬁ./r.}”;l;‘,@g‘g',i @ (i) ©

(i)

Draw truth table for "NAND" gate.

MW N

5 = - ;’b . H
et E:UE"‘U.ID’J/QJ_Z-’--’»: X5 (i)
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PAPER CODE 2018 (A) s
NUMBER: 7477 - N
SSCPART-II (10" CLASS)
#YsICS (OLD SCHEME) GROUP-T tgmres S (A 205 ) S5
TIME ALLOWED: 15 Minutes OBJECTIVE tf s 2 LA]5 =20y
MAXIMUM MARKS: 12 12=4F

- f Aoy ARy o > 3 i) % fa i #
.—_,-.,{J-:_f:;,ér_ufgfxfuuwgw s':...._..rﬁc:..fuc..u':u:/i:ac._.:.’;vé dfr;_./’L;ﬂ_}f:?_bgzr__.:Dui(_;Bu"\..:.LU? .'rjd"f\fd_.;,)l'!’ﬂ-h-‘d;
£ - %L P AT (: , 3 s . i s IF o \
-/ .-'-J’.) _,:.:.Ulrz;_.?é,_ﬁru'l_E’:_?E:ufff."oj By ;./.:{__ Bubbles-¥ s s hk..:.-'.ﬁ’uf/.uu:‘:.u"u r=5 .;) .;.K‘_L_d_/' LYl
Note! You have four choices for each objective type questionas A, B, Cand D . The choice which you think is correct, fill that circle in
front of that question number, Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBIECTIVE PAPER.

Q.No.1 _]ﬁ’}t,!f!’
(1)  The output of NAND gate 1s zero “0” when: I PegesTfa iy (1)
(A)A=0and B=( (B)A=1and B=
(C) A=0and B=| (D) A=1and B=(
(2)  E-mail is the abbreviation of: s S (2)
(A) Emergency mail J!-’o"'f/ir (B) Electronic mail J& ¢, &)
(C) Extra mail & 4 (D) External mail J&'(f 24
(3)  The brain of any computer system is: e Lo ol 5T @)
(A) Monitor #» (B) Memory ..« (C) CP.U. -4~y (D) Control Unit Ly s B
(4)  Isotopes are atoms of same element with different : e bndl KRl Al L eni S L sid T (4)
(A) Atomic Mass _ibi (B) Atomic number #_
(C) Number of Protons :aJJ;F};4 (D) Number of Electrons PRy
(5) Waves transfer: :u:;:éx"}";rb‘;; (5)
(A) Energy G (B) Frequency (% (C) Wavelength #, (D) Velocity ¢ Us
(6)  The relation between v, fand 4 of a wave is: :;__JJ"T-\-,@M-JZ.&{:';;,”:J;ﬁ;f_}:&u;;fg,_,{; (6)
(A) vf= 2 (B) fA =v (C) vi=f (D) V:?
(7)  The loudness of a sound is most closely related to its e b MK A IS ()
(A) Frequency (7%} (B) Period 42  (©) Wavelength &@{': (D) Amplitude 3%
(8)  The index of refraction depends upon: e bW ST A (8)
(A) Focal length 28} (B) Speed of light £,
. (C) Image distance ;462 & (D) Object distance (s 7
(9)  The unit of electric field intensity is: :..»_,_*—',g{&"‘-'" ';,;L_;‘__,-”/:?’; (9)
(A) N (B) NS (C) N (D) Nm.
(10) Types of charge are: W idese (10)
(A) Two » (B) Three ¢f  (C) Four 4 (D) Five &,
(11) An electric current in conductors is due to the flow of : -‘;_..nd’ﬂg,..f/.ouiif"’iﬂ’ (11)
(A) Positive ions FTaksy (B) Negative ions #72&
(C) Positive charges 'Lt_wf..;:{ (D) Free electrons s 48,17

. . e ~ o W gt = -, - . - I Nl - A a #
(12) The direction oi.mdu\,ed e.m.f. In a cireuit is e Bl Ldh £ oo S e Ak (12)
in accordance with the conservation law of

(A) Mass (B) Charge b (C) Momentum f'{:’ (D) Energy $./i

18 (0BT 3% 3¢ )-2018(A)-  (MULTAN)
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